[Tl

4T 3£

T 2 H AR BINER

—|
-]

I






H X

EBRE 49

=]

=2

w02 FEEMIIT—RESFMETHE (B135) T2 T

BMEE 50

7

T 3FEEBIT-RIHWETE B15) 12> T

15







MEFE49F

w2 FEHIIT—-RIFBFMETFHE (F135)

T2 EEHIT—RSHMETHE B135) 13, RIZEDD L ZAITL D,

(RARBTROME)
F1H&E BARHTEOBEEIZ, BARHENEN28, 231FHZBML, BRARHTFHEOBREL
AR T E 64, 493, 226 T &3,
2 BMARBTFHEORMEOKECKSEVEERSZ L0, TCCHERORABRETFHE®
&8T. F1IRBRARBTFEME] X3,
(EBAEITHOMIE)
E2%& HEERABTHROBMIL., H2REBABITAME] ITX5,

SF3F2A1 8 M

wimE & H = |



H1R  RARETEME

54 A
= g FHIERT DO%R # 1E %8 s
M 1 T
15 EHE®ZHE 20, 195, 492 28, 231 20, 223, 723
1 EEAEE 3, 333, 506 15, 510 3, 349, 016
2 EEMBhA 16, 835, 431 19 721 16, 848, 152
64, 464, 995 28, 231 64, 493, 226




% i
Eo I WIERT D% W E 48 Bt
1 T T
4 BIER 5, 287, 017 28, 231 5, 315, 248
1 {RER 3,001, 223 28, 231 3,029, 454
= & 64, 464, 995 28, 231 64, 493, 226




FoR HEBRBITHWHE

1.8 ER (Bfr M)
= IH M PR EEER
) B & 2 &£
EERENa— /L ¥ — ¥R 68, 759
E Sf 3 H£E




R AN A 1E T S S TR B AR

e (B4L : FH)

2 FHIERT DR AR L R it R L

% %

1 T 20,537,793 | 31.9 20,537,793 | 319
2 HGEER 529, 000 0.8 529, 000 0.8
3 FFEIZRAT & 15,000 0.0 15, 000 0.0
4 BLEEIZfTE 75, 000 0.1 75, 000 0.1
5 MRS RERTAHI 2T & 93, 000 0.2 93, 000 0.1
6 IEABERZMTE 195, 000 0.3 195, 000 0.3
7T HEHEERRERMSE 2, 574, 000 4.0 2, 574, 000 4,0
8 INTHEFRABATE 61, 000 0.1 61, 000 0.1
9 REFEMEREEIZZf & 60, 000 0.1 60, 000 0.1
10 H 5 575|221 & 163, 113 0.3 163, 113 0.3
11 M5 22448 3, 278, 166 5.1 3, 278, 166 5.1
12 ZMEL2HRERIZZ T4& 26, 000 0.0 26, 000 0.0
13 #EE&EUARE 215, 551 0.3 215, 551 0.3
14 fEREE OFHoE 608, 445 0.9 608, 445 0.9
15 EEZHE 20,195,492 | 31.3 28, 231 20,223,723 | 31.4
16 RZ 4 3, 930, 985 6.1 3, 930, 985 6.1
17 BMEEUA 65, 575 0.1 65, 575 0.1
18 Fft& 991, 207 1.5 991, 207 1.5
19 A& 1, 534, 142 2.4 1, 534, 142 2.4
20 fEbka 1, 438, 967 2.2 1, 438, 967 %2
21 FEIA 2, 747, 183 4.3 2, 747, 183 4.3
22 Tk 5, 130, 376 8.0 5, 130, 376 8.0
m AN B F 64, 464,995 | 100.0 28, 231 64,493,226 | 100.0




(% H)
b7 WIERTORE WAt  E %
%
1 BRF 240,798 | 0.4
2 WMBR 17,767,525 | 27.6
3 RER 16, 507, 572 | 25.6
4 HER 5,287,017 | 8.2 28, 231
5 % 1,477 117 &%
6 REMKEER 1,441,730 | 2.2
T LR 2,585,751 | 4.0
8 LAR%E 5,689,987 | 8.8
9 HBHE 1,567,828 | 2.4
10 HBER 6,159,593 | 9.6
11 KERIBHE 468,246 | 0.7
12 & 5,231,231 8.1
13 Fln%e 40,600 | 0.1
54 & 64, 464, 995 | 100. 0 28, 231




(BfiL : TH)

Mo O1E B o M O E W

%ﬂ%

o

+ 8 R L 3 = T = =
H R X H & ¥ FAER D T ik M IR

%
240, 798 0.4

17,767,525 | 27.6

16, 507,572 | 25.6

5, 315, 248 8.2 28,231

1,477, 117 2.3

1, 441, 730 2.2

2, 585, 7561 4.0

5, 689, 987 8.8

1, 567, 828 2.4

6, 159, 593 9.6

468, 246 0.7

5, 231, 231 8.1

40, 600 0.1

64, 493, 226 | 100.0 28, 231




2 m A

15% EHEXHE&

1H HEA#ESE

211
H WETHEMAE = & y—
2 WAREEAES ## IE /i 2 BUAMEFHREE 15,510
2, 900 AL
#HIE4E
15, 510
18, 410
& HHIE A
3, 333, 506
HIE%E
15,510
3, 349, 016
15% EEZH& 218 [HEMBh&
i
B WIETH% = o y—
3 HAREEMEE FHIE AT 6 FEYE T Ih 3 E R 12, 121
114, 984 #Bh&
WIESE
12, 721
127, 705




(Bfr - )

B B 1 =
oA NVAT 7 FoEREHEAES 15, 510
B
15, 510 X 10/10
(Bfr ;. FM)
B B fii =
FRlooF oA VAT 7 F EEREEIMREERENE 12 721

BEV-FHEE 30,272 WIE%THE 42,993

42, 993X 10/10

15% EEXHE




1 5% HEEXHE 218 [EEMBI%

A HHIE T H4R

K o

Bt RIERT
16, 835, 431
HHIEAR
12, 721
st

16, 848, 152

__].OH




(47 : FH)

B

(] =

_11_

167 EEXHE




3 m i

43 AR 11 {REE
) i
= 1 I3
B MWIEFHEE M IERHRAER = x o
6 JRIULGE TR FHIERT JE] R 3 HH 4 12 %R 3,290
497, 857 28, 231
13 EFE 22,172
fHIE%H
28, 231 14 i R OVE 679
? 18 (BEHAR 2,090
526, 088
E ¥EIE AT E Rz HEe
3, 001, 223 28, 231
WIE4RE
28, 231
st
3, 029, 454

_12_




(EAL - FH)

B A fi =
1 I T Bh 3 e 28, 231
(1) HBA TN PETRHEEE 28, 231
BER-FH%E 107,782  #IEH THEZEE 136,013
BEREARER - BN - EHRERTE 6, 138 (A9, 65878)
BERENT— LT 7 —¥KEEEE 18,946 (GEM)
FRlan oA VAT 7 F U EFBEEETE
4,208 (GBI
R an)F A NAD S F o ERIBERERRE
8,676 (:BHN)
HEHBEES BT BE 536 (iBm)
4z WER

_13_




BRRBITATEMEEUBRICHhIZALDIZ YN TOSMITEERETD
FHER OGS T2EELUBORZ HFEES BT ARE

1. BEAEICRILO FEY TR TE : MTH (AL FH)
RIEAEMEAET | R2FEMMED EOMRAR
k2 H FREE#H OXMEER | XHTER B w B .
MR & 47 (MR & %8 |EWRHE| HbdE | Zofh

BERRENa— L7 — BT

68,759

R2
= 68,759
R3

68,759

_14_.




MEFES 05

T3FEEHIIT—RIFWETE (B15)

THIEERIT—RESHMWETHE B15) I, RICEDDLIAITLS.

(BARHTFEOME)

B1E BABETHEORMHEIZ, BABREZTHAEN643,662THEZEML, MARKETHEORLE

PRABREFNFN, 123,662 F@ &4 5,

2 BABHTROMEOKEORSRVCYERFZLO&E, TRICHEROBRARH TR

ST, B 1IRBRARBTFEME] 2X5,

ST3E2AH1 8 HigH

#IlmE & #F = =M

_15_



1R AN Aun gt R

% A
#* g FIE AT D %4E i IE %8 Hin
ESE) ES) ESE)
15 EEXHE 6, 376, 926 643, 662 7, 020, 588
1 EEAHESE 3,213, 079 516, 806 3, 729, 885
2 EEMHBhE 3, 089, 191 126, 856 3,216, 047
& &t 48, 480, 000 643, 662 49, 123, 662

.._16._...




53 H
E FEIERTDEE W IE % &t
M M Y
4 frAE#H 4,903, 504 643, 662 5, 547, 166
1 frfdsy 2, 468, 922 643, 662 3,112,584
& H 48, 480, 000 643, 662 49, 123, 662

_17_




RN AR IE T H FE R B

1 & 18
I (B . FM)
zx WIERTOE | Mkt | W E 4 it Bk b
% %
1 TH# 19,916,419 [ 41.1 19,916,419 [  40.5
2 HFESR 518, 000 11 518, 000 1.1
3 FFEIZfT& 15, 000 0.0 15, 000 0.0
4 BLYBIZZME 74, 000 0.2 74, 000 0.2
5 MINEBERTERIZ & 94, 000 0.2 94, 000 0.2
6 IEATEBRRZFE 153, 000 0.3 153, 000 0.3
T T HBEHZSE 2, 701, 000 5.6 2, 701, 000 5.5
8 N7 GF AR e 68, 000 BT 68, 000 0.1
9 REIMRERIZ TS 73, 000 0.1 73, 000 0.1
10 5 RHIZE T4 517, 413 o | 517, 413 1.1
11 #5728 3, 278, 000 6.8 3, 278, 000 6.7
12 RiBREXRIFRIZ & 25, 000 0.0 25, 000 0.1
13 &R AEE 190, 153 0.4 190, 153 0.4
14 {#ERERCFEE 586, 942 1.2 586, 942 1.2
15 EEXH4E 6,376,926 | 13.2 643, 662 7,020,588 | 14.3
16 W3 i 3, 460, 901 7.1 3, 460, 901 7.0
17 MENA 64, 409 0.1 64, 409 0.1
18 it 938, 755 1.9 938, 755 1.9
19 A& 2, 208, 620 4.6 2, 208, 620 4.5
20 e 50, 000 0.1 50, 000 0.1
21 FEIA 2,761, 262 5.7 2,761, 262 5.6
22 ik 4, 409, 200 9.1 4, 409, 200 9.0
m A & 7 48, 480,000 | 100.0 643, 662 49,123,662 | 100.0

_18_




_19_



(% H)
b7 WIERTORE | ML el
%
1 e 260,599 | 0.5
2 WwBER 5,845,365 | 12.1
3 RAR 15, 695, 240 | 32.4
4 AR 4,903,504 | 10.1 643, 662
5 HE#E 1,514,777 | 3.1
6 HEARKERXERE 1,339,599 | 2.8
7T L 1,295,752 | 2.7
8 A% 4,922,946 | 10.1
9 JEBHF 1,704,058 | 3.5
10 HHH 5,761,506 | 11.9
11 REEBRRE 181,596 | 0.4
12 AfE#R 5,017,725 | 10.3
13 Pl 37,333| 0.1
% a 48, 480, 000 [ 100.0 643, 662

_20_




(EA7 - FH)

W T E®E o o %" A R
£ A L B £ i) IR -
12 3 2 o
260, 599 0.5
5, 845, 365 11.9
15, 695, 240 32.0
5, 547, 166 11.3 643, 662
1,514, 777 3.1
1, 339, 599 2.7
1, 295, 752 2.6
4,922,946 | 10.0
1, 704, 058 3.5
5,761,506 | 11.7
181, 596 0.4
5,017,725 10.2
37, 333 0.1
49, 123, 662 | 100.0 643, 662

_21_




2w A

1 5% EEXH4E 11 EEAEE
i
= WIETHEZE x5 y—
2 HAREEAES FHIE A1 2 [RYYE TR EE 516, 806
2, 900 A&
HIEZR
516, 806
519, 706
e i IE Al
3,213,079
HIESA
516, 806
%-_I,
3,729, 885
1 5% HEEZXH4 215 [EEMBE
i
E. WIETH% = & y—
3 WAREEMBS FHIE R 4 RRYETEARIEE 126, 856
78, 373 WBh4
HIE%E
126, 856
205, 229




(Bfr : FM)

ik ) i %

Filant oA LAY 7 F AR SRS 516, 806
B

516, 806 X 10/10

(AL - )

ik 3 i %

ool oA VAT 7 F o BEEEREREEEEE 126, 856
B
126, 856 X 10/10

158 EEXHSE
_23_




15% HEHEXHE 2 [EEMEE

B HHIET HAR B

N

=103
+

RIERT
3,089, 191
HIER

126, 856

h=(111}

.i_

3, 216, 047

_24_




(AT - FH)

B

_25_

153 EEXHE




3 m

43 wEE 11 (REE
_ ]
i ERHERE
B WIETHAE FHIERTR AR = 5 e =
7 REHYRE TR HHIERT [E R 3 4 1 FREN 4, 507
4922, 928 643, 662
3 BBTFYUE 1, 049
HHIE%E
643, 662 8 Rt 417
) 10 EHE 4,531
1, 066, 590
11 &5 12, 885
12 FEEE 612, 916
13 B MEEE 7, 357
i WIERT EHRZHE
2, 468, 922 643, 662
#HIE%R
643, 662
3,112,584

H26_




(BAL . FM)

B ] i =z
1 FlaoF oA VAR EBEER 643, 662
B0
2= N F A LWEFEEATE R R RN 4,507
EFERESHEE BT 46, 910
BEFEAREDR - £ - EHEFOR 9, 658
ERERERNa—L ¥ —¥BEEH 49, 813
U7 F o EAERER 70, 785
U 7 F o EBEEEEE 399, 587
BEhE A kAR 18, 200
43k HERE

_27H




#o 5 R A E

1

(1) =FHEEERRE

D @ &
(Bfr  FH)
B i 5 # ; 5
y 2 P =
B m W ] B 8 | BASS 7 R & B
HIE#H 486 630, 671 124, 208 184, 634 939, 513 133, 349 1,072, 862
A IERT 483 626, 164 124, 208 183, 168 933, 540 132, 381 1, 065, 921
g 3 4, 507 1, 466 5,973 968 6, 941
(Bfr  FH)
E5 | BRTE | GRS | BRATE | BEES | BB | ol
]g HIE# 3,736 44, 650 2, 896 132, 011 1, 341
EY
r;% F# TE B 3,736 44,233 2, 896 130, 962 1, 341
]
iR
=413 417 1, 049

_28_






